! first to simplify the expression?

124+2.521

1242
5-1

2+5

o 0o m P

52

_ According to the order of operations, which operation should be performec‘

3. 5.78x105 =
F 57,800,000
G 578,000
H 0.0000578
J 0.00000578

2. Which of the following is not a rational number?

J 5Sandé

4 . Which value is equivalent to 22 — 23 ?

F 14
G 16
H 20
330

F 075

G 0

H V4

] Ji5

5 * Between which two whole numbers is /33 ?
F 32and 34
G 16and 17
H 6and7




Terms: 6 X X 2

Coefficients

Note: (X)s the same as@

Like Terms: terms with SAME VARIABLE raised to SAME POWER
coefficients DO NOT have to be the same
constants (naked numbers) are also like terms

Like Terms 3x and 2x w and w/7 5and 1.4
Unlike Terms  [5x° and 2x |6a and 6b 3.2 and x
Exponents are W v

One is a constant

different different and one is a variable



N

What does it mean to be like terms?

I. Must have the same variable... not x and xy.
x-and 4x—but not— 5xand 6y

2. Must have variable raised to same power ... not x and x.

7x3 and -Zx3 but not 5x2 and —9x4

3. Numbers by themselves are always added together.
8and -3  butnot -4xandb

L. Integers are key component here. If you cannot do mtegers well,

you cannot do algebraic expressions.

8X - 3x + 6x + (-3x) - bx




T 7T 7 7
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1) —6k + 7k

3) n—104+9n—3

5) —r—10r

7) 11r—12r

9) —8x—11x

1) 5n+11n

2) 12r—8-12

4)y —4x — 10x

6) —2x+ 11+ 6x

8) —v+12v

10) 4p+2p

12) n+4—=9—=5n



- 13) 12r+5+3r—5

14) =5+9n+6

16) 4n—n

15 n—-4-9

17) —3x =9+ 15x

18) —9k + 8k

:_1“9} —16n—14n

20) 157 —19n
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1) —6k + Tk
Kk

3) n—10+9n—3
10n - 13

S5) —r—10r
-11r

7) 11r—12r

-r

9) —8x—11x
-19x

11) Sn+11n
16n

2) 12r—8-12
12r - 20

4y —4x — 10x
-14x

6) —2x+ 11 + 6x
4x + 11

8) —v+12v
11v

10) 4p+2p
6p

[2)y n+4—=9—=5n
-4n-5



13) 12r+5+3r—3>5 14) -5+9+6

15r On + 1
15) n—4-9 16) 4n—n
n-13 3n
17) =3x -9+ 15x 18) —9k + 8k
12x - 9
[9) —16n — 14n 20) 15n—19n

-30n -4n



Glencoe Pre-Algebra
Book

Pg. 5 (10-18), (29)

/\,?m—m—ﬁm—?m+4+5m+6m-4m
B. 17n-15n-14-12n-16-13-12n-12
C. 5+4x+5-3x-2+5x-7-8x

D-25m—22m—2m—22—26m+23m+25m—22m



A. 7m-m-8m-7m+4+5m+6m-4m
-2m +4

B. 17n-15n-14-12n-16-13-12n-12
-22n - bH

C. S4+4x+5-3x-2+5x-7-8X
2x + 1

D. 25m-22m-2m-22-26m+23m+25m-22m
m- 22
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